

نام و نام خانوادگی: د. ا. م. ح. ز. ا. ب. س. ن. پاسخنامه تشریحی تکلیف شماره ۲.۳... کلاس دوازدهم دبیرستان

۱۹۱۵ آئین

$$g'(n) = (\tan^2 n + \sqrt{2} \cos n)' \cdot F'(\tan^2 n + \sqrt{2} \cos n)$$

$$g'(n) = [2 \tan n \cdot (1 + \tan^2 n) + (-\sqrt{2} \sin n)] \cdot F'(\tan^2 n + \sqrt{2} \cos n) = \sqrt{3}$$

$$n = \frac{\pi}{2} \rightarrow [2 \cdot (1+1) + (-1)] \cdot F'(2) = \sqrt{3} \Rightarrow F'(2) = \frac{\sqrt{3}}{3} \quad \text{پ}$$

۱

$$(F - 2g)'(\frac{\sqrt{2}}{2}) = \frac{-\cos n (-\cos n + 2)}{(2 - \cos n)} \xrightarrow{n = \frac{\sqrt{2}}{2}} (-\cos n)'(\frac{\sqrt{2}}{2}) = \sin(\frac{\sqrt{2}}{2}) = \frac{1}{\sqrt{2}} \quad \text{پ}$$

۲

$$F'(n) \xrightarrow{n \rightarrow (\frac{\sqrt{2}}{2})^-} (\varepsilon n - 2) \sqrt{an} \rightarrow -2 \sqrt{an} \xrightarrow{n = \frac{\sqrt{2}}{2}} F'_-(\frac{\sqrt{2}}{2}) = -2\sqrt{2a}$$

$$F'(n) \xrightarrow{n \rightarrow (\frac{\sqrt{2}}{2})^+} (\varepsilon n - 2) \sqrt{an} \rightarrow 2 \sqrt{an} \xrightarrow{n = \frac{\sqrt{2}}{2}} F'_+(\frac{\sqrt{2}}{2}) = 2\sqrt{2a}$$

$$2(2\sqrt{2a}) = 2\sqrt{8} \rightarrow 2\sqrt{2a} = 2\sqrt{8} \rightarrow 2\sqrt{12a} = 2\sqrt{8} \rightarrow 12a = 8 \rightarrow a = \frac{2}{3} \quad \text{پ}$$

۳

$$\begin{cases} F(x) = -\varepsilon a + 2 \\ F'(x) = -a \end{cases} \rightarrow \begin{cases} F(x) + F'(x) = 1 \\ -\varepsilon a + 2 - a = 1 \\ -2a = -1 \rightarrow a = \frac{1}{2} \end{cases} \quad y = -ax + 2$$

$$F'(x) \rightarrow -\frac{1}{2}$$

۱.۵

۴

معادله برقرار

$$\frac{an-1}{n+1} = \frac{\Delta+n}{v} \rightarrow \forall an - \forall 2 \quad 2n^2 + 17n + \Delta$$

$$2n^2 + (17 - 2a)n + 12 = 0$$

$$\Delta \geq 0 \rightarrow (17 - 2a)^2 - 4 \times 2 \times 12 = 0 \rightarrow a = \frac{17}{2} \quad \text{پ}$$

۵

$$F(r) = 0 \rightarrow F(n) = n^r + an - b \rightarrow A + 2a - b = 0 \rightarrow 2a - b = -A$$

$$F'(r) = 0 \rightarrow 1r + a = 0 \rightarrow a = -1r$$

$$-2r - b = -A$$

$$F'(n) = n^r + a$$

$$b = -1r$$

$$b - a = -1r - (-1r) = -2$$

$$\lim_{n \rightarrow \infty} \frac{F(n) \cdot F'(n)}{(1 - \cos n)^m} = \lim_{n \rightarrow \infty} \frac{(n^r \cdot \sin^n(nr)) \cdot F'(n)}{(1 - \cos n)^m} = \frac{n^r \cdot F'(n)}{(1 - \cos n)^m}$$

$$\rightarrow \lim_{n \rightarrow \infty} \frac{n^r \cdot n^{r-1}}{n^{rm}} = \frac{n^{2r-1}}{n^{rm}} = n^{2r-1-rm} \rightarrow \frac{n^{2r-1}}{n^{rm}} \rightarrow \frac{2r-1}{rm} = 0$$

$$n \times r^m = \sqrt{r} \rightarrow \left(\frac{r+1}{2}\right) \times r^m = \sqrt{r} \rightarrow (r+1)r^m = \sqrt{r} \rightarrow m = \frac{1}{2}$$

$$y = \frac{\sqrt{m+1}}{\sqrt{m-1}} \quad F'(n) = y \sqrt{n} - y = \sqrt{n+1} \rightarrow (y-1)\sqrt{n} = 1+y \rightarrow \sqrt{n} = \frac{1+y}{y-1}$$

$$n = \left(\frac{1+y}{y-1}\right)^2$$

$$F(n) = 0 \rightarrow F(0) = 1 \rightarrow \frac{\sqrt{m+1}}{\sqrt{m-1}} = 1 \rightarrow m = 0$$

$$F'(n) = \frac{-1}{(\sqrt{m-1})^2} \times \frac{1}{\sqrt{m}} \rightarrow F'(1) = -\frac{1}{1^2} \rightarrow -1$$

$$\frac{F(0) - F(-1)}{0 - (-1)} = \frac{1 - A(1-a)}{1} = Aa - V = -1 \rightarrow a = -\frac{1}{r} \rightarrow -2a = 1$$

$$F'(n) = r(n^r + 1)^r(rn) \left(-\frac{1}{r}n + 1\right) + \left(-\frac{1}{r}\right)(n^r + 1)^r \rightarrow F'(1) = 1$$

$$\frac{F\left(\frac{\pi}{2}\right) - F\left(\frac{\pi}{4}\right)}{\frac{\pi}{2} - \frac{\pi}{4}} = \frac{\sin \frac{\pi}{2} \cos \frac{\pi}{2} - \sin \frac{\pi}{4} \cos \frac{\pi}{4}}{\frac{\pi}{2} - \frac{\pi}{4}} = -1$$

$$y = -ax + r \rightarrow \varphi(\varepsilon) = -\varepsilon a + r, \quad \varphi'(\varepsilon) = -a$$

$$-\varepsilon a + r - a = -1 \rightarrow -\partial a z - r \rightarrow a = +\frac{r}{\partial} \rightarrow \varphi'(\varepsilon) = -\frac{r}{\partial} \leq -a$$

K